HANYU

HIRBRA— I REBARIE
DeltaCap AKMJYS series capacitors

Series/Type: AKMJYS series

Date: Oct 10, 2022
Version: 01



HANYU

HIRBRA— I REBARIE
DeltaCap AKMJYS series capacitors

Series/Type: AKMJYS series

Date: Oct 10, 2022
Version: 01

Zn
JrIR: PR
WIGHE: A% PCB, Tl MR Hot S T
IEA .
AR O 36 0 I T 40
P e
HHE
m A,
L5 L
W %4 R
- SRR BT



s

HANYU
MR ARSI EREBRIE
DeltaCap AKMJYS series capacitors AKMJYS series
- HEHAR

B OERRE (EEREH XD

m N

m R
FIF D2 R IE
- VERRIE I
- fR i L
- $R i R R

W

WE 24 bifs - BY e o

ok

W R AR LB A

B (M12 B8 k34E=10 Nm/M16 [F31%4=12 Nm)

BOR K FIEE
R
HWUE A Cr MR A% R
BE -5% ~ +10%
B D (Delta)
HUE I Vr IR A% R
BUEMA fr 50 and 60 Hz
i R A% R
BE IR IR R A% R
FILM PFC PM Oct 10, 2022
Please read Cautions and warnings and Page 3 of 14

Important notes at the end of this document.




s

HANYU

R A R — TR AR IE

DeltaCap AKMJYS series capacitors AKMJYS series
BRRBUEE

Umax 1.2Ur

Imax 2.5Ir

ls Up to 200 - Ir (A)

WK A

Ut 2.15Un, during 10 s

Urc 2Un+2000 V AC or 3000V AC , during 10 s

*tan & (100 Hz)

<2.0x103

[R5 -40/D

Trmin —40°C
Trmax +55°C
T Av. rel. < 95%
RORHER P 4000 m
TR
to Up to 135 000 hours at temperature class -40/D

Up to 150 000 hours at temperature class -40/C

Max. 5000 switchings per year acc. to IEC 60831.1/2-2014

FILM PFC PM

Oct 10, 2022

Please read Cautions and warnings and
Important notes at the end of this document.

Page 4 of 14



BT HE

R~ (oD xH) HRAE RS %

o2 3F PCB, MRS : HREAFER IR T
[# & BALTHEFE M12x16 or M16%25

I KA (Al can stud) M12: 10 Nm / M16: 12 Nm

AN E NAEEALE

ARUEMER, HSH P MZETH .
KV 2, AR PEEAME Sk B SO

U

Bri 4 45 2% IP20

KGR 6Nm

i~ A AL 50mm?

B K di 1 HLOR 100 A

EHFEES (min) >24 mm

24 i 25 (min) 223 mm

Ko

Bt 22 4 i s B B TR

5K LU (AFC: 10 kA according UL 810 standard)
JEC H, FL BEL [ <180sto 75V orless (IEC 60831)
SEr

IEC 60831-1/2-2014 GB/T 12747.1/2-2017




I RE

Type: L
Screw type

R

an

| 53 Hl.
« sgeL T
© Bas 408

i %l G
L‘ ehird
Pl . oral T
e N
L T L T
F T— Byl e
Wi L [T Y

.- "mEY Ve
L LR
L TERERRT S | ]
" vl AN T
IaN i gMAP:

a3
Rl
LU

Type: K
Clip type

| shiadat
- maEeL AR
Creri it

B-cruve

L
- e

v

- P

s - L

»

-

L 1) -

Ay nETy
Kl il A N
AW ighAR:




Type: A Type: B Type: C

PRI

UNIVERSAL

ELECTRICAL
POWER CAPACITOR
Model : AKMJYS0.48-30-3 |
Un Qn/50Hz  Qw/60Hz

400V 20.80kvar 25.00kvar
415V 22.40kvar 26.80kvar
440V 25.20kvar 30.20kvar
480V 30.00kvar 36.00kvar

|C=138.2uFx3 Ui=3/8kV 1=36.0A |

Temp.category -40/60 2 SH
Dry/Non-PCB /Non-SF6
Pressure Sensitive Disconnector
IEC 60831-1 ( 2014 ) +2 ( 2014)

UNIVERSAL
( Germany Key Techonlogy )

warning ! Wait 60 seconds after
isolating before handing

\
.

Note: parameter marked in “ [___] " is variable




R+H

AKMJYS-L-A AKMJYS-K-A
T BAR BRAA 7 H
5 | 5 minln
Marking Marking
b -
s Bt
@ u Torque : mlzjg:ﬂ M Torque : M12=10Nm
. M16=12Nm
?D*1 ewwwsn Serrated washer oD+1 s Serrated washer
(L1 Hexnut mr2mie (I T] Hexnut M12M16
ol
~— <3 - I
g / A b E@ @ @B
& @f ~ © ¢ o
. o o
AKMJYS-L-B AKMJYS-K-B
—— — 4 HHH
L B . , & L]
g .
o o
Markin: .
arking Marking
W -
T +I
T
@ u Torque : M12=10Nm @ Torque : M12=10Nm
M16=12Nm M16=12Nm
PD+1 ssssws Serrated washer pD*1 s Serrated washer
I — i
Hexnut MTZMT6 [T Hexnut MT2/M16
I |
— 5 e O
H = 00
g S & & @
N o




AKMJYS-L-C AKMJYS-K-C
H] T
] BR4 | BR4 i HH O, ()
| | | I | 1 [
q =
a &
Marking Marking
E 5
T
(L] L Torque : Miz=10nm L1 L) orque : Mtz=10nm
M16=12Nm M16=12Nm
pD*1 s Serrated washer PpDE1 sewssess Serrated washer
(T 1] Hexnut M12/M16 (I 1] Hexnut M12/M16
. i (e
. AN T
kR
50Hz 60Hz Cr Dimension (mm) Bolt of | Packing
Part number the unit
Output IR | Output | IR bottom pcs
kvar A kvar A Wk @D ®D1 H
Rated voltage 450 V AC, 50/60 Hz, delta connection
AKMJYS-X-X-0.45-5-3 5.0 6.4 6.0 7.7 | 26.2x3 65 68 160 | M12x16 10
AKMJYS-X-X-0.45-10-3 10.0 12.9 12.0 | 154 | 52.4x3 76 79 235 | M12x16 6
AKMJYS-X-X-0.45-15-3 15.0 19.3 18.0 | 23.1 | 78.6x3 86 89 235 | M12x16 6




AKMJYS-X-X-0.45-20-3 20.0 25.7 240 |30.8 | 104.8x3 | 96 99 278 | M12x16 4
AKMJYS-X-X-0.45-25-3 25.0 321 30.0 | 38.5|131.0x3 | 106 106 | 278 | M16x25 4
AKMJYS-X-X-0.45-30-3 30.0 38.5 36.0 |46.2 | 157.2x3 | 116 119 | 278 | M16x25 4
50Hz 50Hz Cr Dimension (mm) Bolt of | Packing
Part number the unit
O;Jtput Ir Okutput Ir uF oD | oD1 H bottom pes
var A var A
AKMJYS-X-X-0.45-33.4-3 334 429 | 401 | 515 | 175.0x3 | 126 129 | 278 | M16%25 4
AKMJYS-X-X-0.45-35-3 35.0 449 | 420 | 53.9 | 183.4x3 | 126 129 | 278 | M16%25 4
AKMJYS-X-X-0.45-40-3 40.0 514 | 48.0 | 61.6 | 209.6x3 | 136 139 | 278 | M16x25 4
Rated voltage 480 V AC, 50/60 Hz, delta connection
AKMJYS-X-X-0.48-5-3 5.0 6.0 6.0 7.2 | 23.0x3 65 68 160 | M12x16 10
AKMJYS-X-X-0.48-10-3 10.0 12.0 12.0 | 14.5 | 46.0%3 76 79 235 | M12x16 6
AKMJYS-X-X-0.48-15-3 15.0 18.0 18.0 | 21.7 | 69.0x3 86 89 235 | M12x16 6
AKMJYS-X-X-0.48-20-3 20.0 24.0 24.0 | 28.9 | 92.1x3 96 99 278 | M12x16 4
AKMJYS-X-X-0.48-25-3 25.0 30.0 30.0 | 36.0 | 115.2x3 | 106 106 | 278 | M16x25 4
AKMJYS-X-X-0.48-30-3 30.0 36.0 36.0 | 43.3 |138.2x3 | 116 119 | 278 | M16%25 4
AKMJYS-X-X-0.48-33.4-3 334 40.2 40.1 | 48.3 | 153.8x3 | 126 129 | 278 | M16x25 4
AKMJYS-X-X-0.48-35-3 35.0 421 42.0 | 50.5 | 161.2x3 | 126 129 | 278 | M16x25 4
AKMJYS-X-X-0.48-40-3 40.0 48.2 48.0 | 57.7 | 184.2x3 | 136 139 | 278 | M16x25 4
Rated voltage 525 V AC, 50/60 Hz, delta connection
AKMJYS-X-X-0.525-5-3 5.0 5.5 6.0 6.6 | 19.3x3 65 68 160 | M12x16 10
AKMJYS-X-X-0.525-10-3 10.0 11.0 12.0 | 13.2 | 38.5%x3 76 79 235 | M12x16 6
AKMJYS-X-X-0.525-15-3 15.0 16.5 18.0 | 19.8 | 57.7x3 86 89 235 | M12x16 6




AKMJYS-X-X-0.525-20-3 20.0 22.0 24.0 | 26.4 | 77.0x3 96 99 278 | M12x16 4
AKMJYS-X-X-0.525-25-3 25.0 27.5 30.0 | 33.0 | 96.3x3 106 106 | 278 | M16x25 4
AKMJYS-X-X-0.525-30-3 30.0 33.0 36.0 | 39.6 | 115.5x3 | 116 119 | 278 | M16x25 4
50Hz 60Hz Cr Dimension (mm) Bolt of Packing
TS ARG I I the unit
Output R Output R uF oD | oD1 H bottom pcs
kvar A kvar A
AKMJYS-X-X-0.525-33.4-3 | 334 36.8 40.1 | 441 | 128.6x3 | 126 129 | 278 | M16x25 4
AKMJYS-X-X-0.525-35-3 35.0 38.5 42.0 |46.2 | 134.8x3 | 126 129 | 278 | M16x25 4
AKMJYS-X-X-0.525-40-3 40.0 44.0 48.0 | 52.8 | 154.0x3 | 136 139 | 278 | M16x25 4
WERE
AKMYS - X - X - 0.48 - 30 - 3
@ -- R
@ - BFHRRM. L IBERR
K -- R#138%
@ --FaiERA. A - B
B -- [k 7 fE4E
C -- BAEERE
@ -- B TERE
® -- AR TEER
® --FMEBER 3-=m A) . 1-85




-
1E:

R RMFE B EMARK R RAR, BA PR TR EES U EAAEE BT 1.732 £, Fh

SR

RS

W ISRMRIREE R 1 mm SCAE T A BURARER , A AR

mHE R

W ONTRRIER IR AR, AR T, A A E O AR E A 12mm %

Al

RS ZAT, AERIEE.

FEARFIEOL T, A28 I3 24 1 N BT ORI S 3L IR 1 D«

NOACFRELZE A, DRI OB e B R WO IR, AL AT REAT
RIS, kI EUR R

IRAESEEFEI, BRI e SEOL Rl RRAICOK .

! Satiii

H AR B U A A AN 2 PR s X HIE T B AR A o SR i i i ] PR S £ L T S

e

B ARG UOR T RE G R SE . FRUA SRSl D] H 2 e LB SR T el A A AL
I REF BN 5 15 T B0 P 45K

B ORRHEA SR RIF. AR,

B SR AR B R A AL 75

W RN T ERR A BT R DA S A B T REATT HE

W AR R TRESKER.

TR, A B EAE AN T AR A AR N A i K i TR
i B BT 6
N R RGBT R A e T Re, AR S LR 2R

1.

SEPETTIEAG 2 BIBHAS, B

W OERE IR RN S ().

w U R R RN 12 2R T ERA LK. R RERE MR AN A AR, DA PR
JE BT R A

P2 TG T IAE

2.

MR4E UL 810 ARk, # K VFHbE AUy 10000 A, X020 H1 SRR FP R ARAIE -




3. AR BN ZHL ZHE IEC60831 kg Ta N

it FRL A A R B R

® fiiF HRC {R: 225k MCCBs T BE IR . MBS ORI FIER LS, DAMEREE K A KL 1.5 f%
(R0 5 FLAS LA

HRC {_K: 22 ANReRs 1L iR ge it 2, AR 2 BR3P 1EH

HRC R 22 85 e {5 RN A E AR AT 1.6 & 1.8 fi%.

ANEAFH HRC TR 22k U1 s 2% C RV AU )

7 FH AR FRL IR 4k FE 2R AT ek R AR

LR Z=

FEARFIEOL T, AZTE T IE 24 1 BT BT ORI G ARG DL . AR I SR K T AUE ik RMS HLZ
S B CEREEECAEGD .

FHTY) S A
FE S IO LS 20 DR AL 06 (R TBCRLINY (8], ASEE S R (57 AH BT Y 7 25 R vt N L AL o
SRR

LR A TR BIPETT &
IEC 60831 5 2-6 #i7) -

e KR 51
TR ) (1] 6 h*
AR IE I 1 10 ... 55 HZ*

(V12703 0.75 mm*




B AE T A . o T RO T T A S MRS, DR A T 7 P B P A B S TR AR
BRI, SR, EE A TN b7 B B 7 SRR B B A TR B R

LR

P38 1 22 7 3 A S SR M LA 0 R TR

Eoe)

FL A s MR SRR B AT U Tt n SR o 2 e P A 0 ) < R SR HEAT b, N7 25 R AR PEL IR B R 77 R 75 %
JZ o EOATEHA910 Nm.
4z
S8 SRS A 1 R R
RS IR, I SRR IR AT EUAE . A P 1 R 0 BT A I T R B AR
U SR T AIUE AL, TR T B R PR TR AT 1B 2L
D SR I AR e G B R B N, U 2 SR B ) AT IR T
URAFAE B, A5 JE 23R SR R SR AL (R T 2% )
ke CERENE R SR A I S P P v 2 )i
(1) Ze A% L R AR .
B (2QE< 180 MJa, dn 3 Z Al AR LA T FEEINT 75 V.

m RIEIETE, EEAERESIEE, EfREERCECH. WRADRERKER S, &
PO B EE iR 3, OV N %A U A I f675, B 2IF7 6y 28 s AR &
Sl A AR AR 26 AT

TEZIE SR PV EA S A T i A7 L 7 s, CHGR AR R AR BAL R R k. sh55FII3A .
FEZ ST, T WI4EY AT, e 1, DL St TR skl 5 b 2 [A) ) P

H B HEHEHE |




	安全
	过电流和短路保护
	抗振动性
	维修 
	请勿在腐蚀性环境中使用或储存电容器，尤其是存在氯化物气体、硫化物气体、酸、碱、盐等的环境。在多尘环境

